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END OF TERM 3 EXAM 2010
MATHEMATICS FORM 1
TIME: 2½ HOURS

Instructions
Answer all the questions in the spaces provided. 

1. Evaluate										(3 mks)

36 – 8 x – 4 – 15 ÷ - 3
   -3 x -3 + 8 (-6 = -2)
















2. Simplify (4m - 1) – (m - 2) – (3 - m)							(2 mks)













3. Solve the equations									(3 mks)

3x + 2y = 1
3y – 4x = 10














4. Find the ration X:Y:Z if X:Y = 9:10 and Y:Z=5:3					(2 mks)












5. Evaluate ¼  of (51/6 – 21/3) ÷ 2/3 + 3 7/11						(3 mks)












6. Ben, Peter and Elizabeth shared shs. 12,000. The ratio of Ben’s to Peter’s share was 2:3 and that of Peter’s to Elizabeth was 6:5. By how much was Peter’s share more than Ben’s?											(4 mks)




















7. Five years ago, the age of a father was seven times that of his son. Twenty years from today, his age would be twice the age of his son. What are their present ages.	(4 mks)



















8. Express the following decimals as fractions;

a) 0.5											(2 mks)





b) 0.23											(2 mks)







9. Solve the following equations 	

a) x – 4 = x + 1										(3 mks)
       3          2




	








b) 3x + 2   - 3x – 2 =11									(3 mks)
          2             3        4








						
10. A sheet of metal s is 3.0 m long; 1.25m wide, and its thickness is 4mm. If its mass is 156 kg, calculate its density.								(3 mks)

















11. Mwangi leaves Nairobi for Mombasa at 0615 hours, drives non-stop and arrives in Mombasa at 1305 hours. If Mombasa is 492 km from Nairobi, find the speed in Km/h at which mwangi made his journey.							(3 mks)














12. The diameter of a classroom protractor is 35cm. Calculate the perimeter of the protractor.										(3 mks)






13. A circle has a radius of 18.2cm. Calculate the length of an arch that subtends an angle of 270 at the centre.									(3 mks)
















14. Simplify 	x2 – x – xy – y								(3mks)
X2 + x -2x – 2














15. Express the following numbers as product of their prime factors.			(2 mks)

a) 120




b) 540


16. A saleslady sold goods worth shs.75,000. She was paid a 2% commission on sales. How much did she get?									(2 mks)








17. Work out

a) 3x 4 + 18 ÷ -3									(2 mks)







b) 90 ÷ -6 + (8 x 15) – 14 x -5								(3 mks)












c) Use tables of squares to evaluate            0.0225 x 128002				(3 mks)










d) a church service lasted 2 hours and 25 minutes. What time did it start if it ended at 12.15 pm?										(2 mks)












18. Three business partners Susan, Immaculate and Joyce contribute sh.20,000, shs.30,000 and sh. 50,000 to start a business. The three agree that a quarter of the profit from business at the end of the month would be saved for emergencies and fifth of the remainder would be used to buy more stock. The remaining part of the profit would be shared in the ration of their contributions. At the end of the first month, the profit was sh.18,480. Find

a) The amount set aside to buy stock.						(5 mks)























b) The amount that each received at the end of the month.				(5 mks)

























19. The diagram below shows a log of wood with a piece chopped off. The log is1.5m long with radius 42cm.











a) Find the area of the shaded section.						(2 mks)




b) Calculate the volume of the remaining log.					(2 mks)









c) Find the arch length ABC.								(2 mks)







d) Find curved surface area.								(2 mks)









e) Find the chopped surface area.							(1 mk)







F) Total surface area.									(1 mk) 







20.  a) The ratio of Jumas’s and Akinyi’s earnings was 5:3. Juma’s earnings was5:3 Juma’s earnings increased to Kshs.8400 after an increament of 12%. Calculate the percentage increase in Akinyi’s earnings given that the sum of their new earnings was Kshs.14,100.	 (6 mks)
























b) Juma and Akinyi contributed all the new earnings to buy maize at Ksh.1,175 per bag. The maize was then sold at Kshs.1,762.50 per bag. The two shared all the money from the sales of the maize in the ratio of their contributions.
Calculate the amount that Akinyi got.						(4 mks)













21. a) Fill the tables for the following equations

x – 2y = -1						2x – y = 4

x	 -2 	-1 	0 	1	 2		x  0	1	2	3	4
y							y
	

	b) Plot the lines x – 2y = -1 and 2x – y = 4 on the same axes.				(5 mks)

[image: ]


c) Use your graph in b) above to find solutions to the simultaneous equations.	(1 mk)
	
x – 2y = -1
2x – y = 4
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